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Chapter 4 Day 2 (Sections 4.6 — 4.9)

(Unit 2)

23 September 2019

1. In the first beaker sketch aqueous sodium sulfate. In the second beaker sketch aqueous barium nitrate. In the
third beaker sketch what happens when the two solutions are mixed. Write the overall reaction and the net

ionic reaction below the beakers.

Balanced overall chemical equation:

Balanced net ionic equation:

2. Which of the following solutions would form a
precipitate? Under each formula, write the ions in
solution. Identify the precipitate and balance the
overall reaction. If there is no reaction, only
mixture-making, write “No reaction”.

2a. FeSOy(aq) + Na,S(aq) >

3. Which of these form acids or bases when
dissolved in water? Circle the acids. Box the
bases.

HCIO, NH; KOH HI CHZOH

4. Write a net ionic equation for the neutralization
reaction of HCN(aq) with NaOH(aq).

2b. AgNO4(aq) + KBr(aq) >

5. How many milliliters of 0.300 M Li2S are needed
to react with 25.00 mL of 0.315 M AgNO4?

LipS(aq) + 2 AgNO3(aq) — 2 LiNOg(aq) + Ag,S(s)

2c. NiCly(aq) + KOH(aq) 2

2d. NaClOg4(aq) + NH,Cli(aq) >

2e. Ca(NOg3)p(aq) + Na,CO4(aq) >

Now try these problems from the book:

Section 4.6. (Precipitation and solubility) Problems
11,12, 13, 14, 76 — 92 (even)

Section 4.7. (Acids, bases, neutralization) Problems
15, 16, 17, 18, 40, 94, 96, 98

Section 4.8. (Solution stoichiometry) Problems 19,
20,100

Section 4.9. (Titrations) Problems 21, 22, 102, 104,
106
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